ECE341 Spring 2005

Quiz #2
May 05, 2005

Name (print) ____________________________________________

Last 4 digits of your social security number ​​​​​​​​​​​​​​​​​​​​​​​____________________
Grade_____________

Notice: 
· There is 1 problem on the following page.  

· You have 20 minutes to finish the problem.

· Please read the problem carefully.

· Draw circuit diagrams, show all the steps, and WINDOW THE FINAL ANSWERS.



Problem: A three-phase Wye-Delta connected transformer bank is rated at 13.8kV(Wye)/138kV(Delta), 1000kVA and 8% short circuit reactance. Assume the low voltage side is short circuited while the high voltage side is supplied from a three-phase source at the rated voltage of the high voltage side. Determine the line and phase (winding) currents on the high voltage side. (100 points)
Solution:

The test circuit:


[image: image1.emf]13.8 kV 138 kV

1000 kVA, 8%


The per-unit equivalent circuit:
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“No aid is given, received or observed”         Signature_____________
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